1Z{E KA TEH k=
WAERT=%5 2715 ;&
[LHR#E—BR 2419 &%
FH—E 2232 L&
FrHZE 2,036 &
PELHRE 1,956 43%
HFESHZ 1,940 = BE
W Aa#&DiY 1,721 =P
(ZZ B 1,677 H43#
UhHEIEHE 1672 H®
WL F] 1,668 = BE
BEIETE— 1,657 2438
S U121 1,644 H43E
EEAHSC 1,629 L8
HEFESSH 1593 43®
M2 FS 1562 45%
He+AL 1,456 = BE
OER 3 1423 8
EmEISC 1,396.526| 433
IWAMNT E A 1394 58
fE) A BE 1374 458
{ZHBZ 1,288 43E
JEHRESE 1274 458
ERKHE= 1270 #8
hEZSC 1,256.473| &3¢
JEEFFAE 1254 458
=5—0AL 1,239 L8
/J\%ﬁﬂun 1,191 L&
BER AR 1,087 58
WEARRF 1082 H®
AONEE 1,077 =P
N GES 1,008
BKEED 938
BAIIE 579
FUIES 539

X BERIPDBERALUTLHLILDE., B

7_

SEH T,



